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SA BB O () - MM - HES il
O=2gtl 3,150
— S204lbl 7,000 18 x252 3,150
ogxtz 1,800
— SUEEAMII 150,000& = 1CH»12& 1,800
ORI AHIAAE 160,000& »12& 1,920
02 =224l 18,644 18,644
OEMKRANES 2,000,000& =14 2 2,000
OXeEE= 640,000& »3CH 1,920
OdMERE =S 120
— Xt 20,0003 *3CH 23] 120
OXt= XHAl 604
- 58 504,000% = 1CH 504
- s 59,000& 1CH 59
— 3= 41,0003 = 1CH 41
Oxtg KA 2l 14,000
-5 5,000
SE2 (&%, 25,000km 0] &)
5,000,000& *=1CH 5,000
-5 5,000
£ (8% ok, 20,000km O &)
5,000,000& = 1CH 5,000
-3t 4,000
- 2" (ER 0lat, 25,000km O &)
4,000,000& *1CH 4,000
202 04 HI 39,420 39,420
01 SLHOYI 39,420 39,420
O2L4 0 bi 120,000 x18H »12& 25,920
O &2 ¢ di 75,0003 18«10 13,500
203 YR EFH| 4,920 4,920
02 HRIIMYRET 720 720
OFRAINMIR= 40,0003 189 720
04 EAN2IEIRFA 4,200 4,200
EAN2IUEF 350,000& x12& 4,200
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